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Chapier 2  NAME

Directions: Show all steps leading to your answers, including any intermediate results obtained using a
graphing utility. Use the back of the test or another sheet of paper if necessary.

1. Use the graph to estimate the limits and value of the 1. (&) 1
function, or explain why the limits do not exist. (b} i1
; . f
. | (a) iim g(x) () :
/> )
o A (b) . hn;l_ g(x> (d) )
X
/ 1 D/ (¢} limg{x)
l_ v=g(x) x—1 ;
", 4] by =3, 3] (d)y ¢(1)
2. Determine the limit by substitution. Z.
tim (7 — 2x — x%)
P
3. Assume that lim f(x) = —4 and lim g(x) = 8 Find 3.
. Xl X—+h .
the value of lim (f(x) — g(x)). : '
Ky
(&) —12 B —2 (& —1/2 O 2 (B4
4. Find the limit graphically. Show how the Sandwich 4.
Theorem can be used 1o confirm your answer,
, LY
15‘2 \3 + x* sin;)
14 — 3x/
5. For f(x) = _“ém_._f use graphs and tables to find 5. {a)
X
. I ¥ . b
(@) lm f(x)and (o) fim f(x). (0)
B pa el X 00 (C)

(¢) Identify any horizontal asymptotes.

6. Consider the function f(x) given below. Which of the 6.
foliowing appear (o be true about f(x)7

. 1. :
1. The line y = = is a horizontal asymptote.

I hmf{x) =2

X—r i

III. The line x = 1 is & vertical asymptote.
V. Hm Alx) = lim flx)

L.f\)i/Ey: P (A) Tend Il
AL (B) I and IV
S e (C) 1, TL and I
| } E( | (D) LI and IV
, (8) LI T, and IV
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Directions: Show all steps leading to your answers, including any intermediate results obtained using a
graphing utility. Use the back of the test or another sheet of paper if necessary.

1. Use the graph to estimate the limits and value of the 1. (a)
function, or explain why the limits do not exist. (b)
\ B /, (@) lim flx) (c)
AV Y/ () lim f(x) (@
y=f(x\% ~ (c) lin}f(x)
Xemd il
=4, 4] by (-3, 31 {d) f(2)
2. Determine the limit by substitution. Z.
Jim (—6x* + 5x + 12)
3. Assume that im f(x) = —3 and im g(x) = —2. Find 3.
x—b Kl

the value of [im (f{x) — g{x)).
x-b
(A)y =5 (B} —1 1 (D)ys (#EH6
4. Find the limit graphically. Show how the Sandwich 4.

Theoram can be used to confirm your answer.

\ i
lim (5 -~ X° COS —)
=3} x

ldx + 3!
o . ¢ . ) ”
5. For f{x) o g use graphs and tables to find 5. (;)
(a) lim f{x)and (B hm f{x). E ))
x—oe Xy 00 C

{¢) Identify any horizontal asymptotes.

6. Consider the function g(x) given below. Which of the 6.

following appear to be true about g(x}?

1
I Theline x = 5 is a vertical asymptote.

1
I lim g{x) = —

x——1 2
ITI. The line y == —1 is a horizontal asymptote.
IV. lim g{x) = lim g{x)
2=t X 00
=5 {A) Tand II

(B) 1and il
Lt {C) ITand 1

_______ o (D) T and IV
(E) 11 TIT and IV

© 20057 Pearson Education, Inc. Caleulus Assessment Resources

11



